Case of TY

Company TY produced a group of finished wire products. Each of these products has an invoice price of SEK600 per units and they produce a total of about 20,000 units per month. The manufacturing process for each type of finished wire is essentially the same. Total direct labor and direct material cost for the month are SEK 1,500,000. Total indirect costs for the products are SEK 7,000,000.
Under the original cost system used in TY, indirect costs were either manufacturing cost that were allocated to products based on direct labor , or they were S&A costs, that were treated as period expense and allocated to each customer as percentage of sales revenues, as Exhibit 1.

Under the new cost system, the indirect costs are broken down as follows ( See Exhibit 2 for the example of each type of cost):

	
	Order- related
	Volume-related

	Manufacturing 
	SEK 1,000,000 (1)
	3,200,000 (3)

	Selling and Administrative
	    2,000,000 (2)
	 800,000 (4)


*SEK is Sweden currency
(1) The case also refers to these as non-stocked product costs, which refers to product that not available in TY’s warehouse. These order-related costs apply equally to each non –stocked customer order. Customer orders which are stocked do not incur any of these costs.
(2) These order-related costs apply equally to each customer order.

(3) These costs are allocated based on direct labor (DL) under the old and new system .

(4) Under the new system, these are applied in proportion to DL as well.

During the period this product had 4000orders- 3500 for stocked products and 500 for non-stocked products. 

Consider the following two orders:

--Order 01 for 2 units of finished wire which were in stock

--Order 13 for 2 units of finished wire which were not in stock.

Also consider the following two customers:

--During the year, customer 18 ordered 250 units of finished wire in four orders, all of which were for non-stocked items

--During the yea , customer 37 ordered 250 units of finished wire in 43 orders of  which 18 were stocked items and 25 for non- stocked items.

Questions:

1. Compute the profitability of Orders 01 and 13, and of Customer’s 18 and 37 using TY’s original cost system and using TY’s new cost system. 

2. Look at customer list in Exhibit 4. 
(1) Why did Customer#33523 occur a big loss?

(2) Comparing Customer # 33518 and Customer #33537, why did these two customers contribute to profit TY so differently (profit margin of 58% Vs 12%) though the revenue was quite similar?  

Exhibit 1: Cost structure
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Exhibit 2: Type of cost 
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Exhibit 3: Calculation of order and volume cost
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Exhibit 4: Customer list
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